Dividing Money (D)

—_

i

10.

Calculate each quotient.

20 ) €1167.60 2. 42 €2930.76 3. 43) €2073.46
54 ) €4551.12 5. 17) €241.06 6. 69) €4907.28
98 ) €3806.32 8. 22) €1339.80 9. 43 €690.58

If 21 identical teddy bears cost €1370.04, how much did each teddy bear

cost?
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Dividing Money (D) Answers

10.

€58.38

20 ) €1167.60
—€1000.00

€167.60
—€160.00

€7.60
—€6.00

€1.60
—€1.60

€0.00

€84.28

54) €4551.12
—€4320.00

€231.12
—€216.00

€15.12
—€10.80

€4.32
—€4.32

€0.00

€38.84

08 ) €3806.32

—€2940.00

€866.32
—€784.00

€82.32
—€78.40

€3.92
—€3.92

€0.00

Calculate each quotient.

€69.78

42 ) €2930.76
—€2520.00

€410.76
—€378.00

€32.76
—€29.40

€3.36
—€3.36

€0.00

€14.18

17 ) €241.06
—€170.00

€71.06
—€68.00

€3.06
—€1.70

€1.36
—€1.36

€0.00

€60.90

22 ) €1339.80
—€1320.00

€19.80
—€19.80

€0.00

€48.22

43 ) €2073.46
—€1720.00

€353.46
—€344.00

€9.46
—€8.60

€0.86
—<0.86

€0.00

€71.12

69 ) €4907.28
—€4830.00

€77.28
—€69.00

€8.28
—€6.90

€1.38
—€1.38

€0.00

€16.06

43) €690.58
—€430.00

€260.58
—€258.00

€2.58
—€2.58

€0.00

If 21 identical teddy bears cost €1370.04, how much did each teddy bear

cost? €65.24
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